Review of Our High School Algebra

For

Business Statistics

Instructions: Please print this page; answer all the questions, within 15 minutes without using calculator.

1- What is the value of
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a) It is +2

b) It is -2

c) It is ±2

d) None of the above 

2- Which of the following are correct and why?     

a) Any number divided by zero is infinity.

b) Zero divided by any number is zero.

c) Any number divided by itself is always equal to 1. 

3- Given t = 1.96, n = 144, and S = 0.6, what is (t) (S)/ (n) ½ equal to?  

4- Find a value for X that 3 - 2X = 5.       

5- Given X = 1 then which one of the following holds?  

a) X is  1

b) X is  1

c) X is equal to one. 

6- Which number is larger 151/4 or 113/3?  
7- What is the value of 2.32   
8- If R2 = .16, what could R be?     

9- Dividing 0.469 by 7 is equal to....   

10- Which one of the following holds?  

a)  5   8

b)  5   8

11 - Using the Factorial (!) notation, compute:

a)   4! = ?

b)   -2! = ?

c)  (-2)!  = ? 

d)   0!   = ?

12- What is the slope, and what is the intercept of line Y = 2X + 6, how do you graph it?  
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